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Dynamics of
the model:

by differential equation: Eute equation describing
cocumplion/earing over time

Wits = [6-5is] Wits -00' wits-writ

· Wits = A & inflation + inanimal interest rate
are gixed)

· homogeneous households -
hold same wealth

-> voits = writ

Even equalian simplifies to
Bits =Is-r)Wits - o'ol

Place line:8=0 ->W= fos (v) 8-sio,
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I citical point
-50 = Vmust jump to ios ato



W is a costate vaiable, determined by consumption
↳ non-predetermined variable

↓ it can jump at th

Although W, a one given by a differential
equation -s 8, a directly jump to critical
point of dynamical system at = 0 -> Ne

transition to critical point: Mausilian
immediate

-

At t = o = (0) /[6-2) and

consumption is given by:

c= [8y·T]" OLC L8

↑
interia


